



**Vendor Ranking** 

Call Order: 004

Page 1 of 1

**Letting:** 02251119

November 19, 2025 11:00

Contract:

E21Q5-R0

**District:** District 2

Counties: ALACHUA, DIST/ST-WIDE Fed Aid No: N/A

NI NI/A

Contract Time: 365 CALENDAR DAYS

**Project(s):** 41021347276 (\*)

Contract Desc: Eastside Mow Routine Maintenance

AM

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	BOONE IMPROVEMENTS, INC.	Responsive	Winning bid	\$597,929.34	100.00%
2	JT RUBY CONTRACTING SERVICE INC	Responsive	Non-Winning Bid	\$697,354.20	116.63%
3	GRADING & BUSH HOG SERVICES IN	Responsive	Non-Winning Bid	\$827,505.28	138.40%
4	ALL TERRAIN ENTERPRISES OF BRAD	Responsive	Non-Winning Bid	\$999,963.29	167.24%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





**Tabulation of Bids** 

Page 1 of 3

**Letting:** 02251119 November 19, 2025 **Call Order:** 004 **Contract:** E21Q5-R0

District: District 2 Counties: ALACHUA, DIST/ST- Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS WIDE Project(s): 41021347276 (\*)

Contract Descr: Eastside Mow Routine Maintenance

The improvements under this work document driven contract consist of large machine mowing, slope mowing, intermediate mowing and litter removal on state maintained right of ways in Alachua and Bradford Counties. Mobilization and Maintenance of Traffic are incidental to the pay items listed. RENEWAL OPTION.

	No / Item ID Description	Alternate	Quantity Units	(1) BOONE IMP	· ·	(2) JT RUBY CO SERVIC			& BUSH HOG ICES IN
( ) indi	icates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001 (LARGE MACHINE MOWING (AC								
	E107 1 1 REMOVAL		21,051.600 AC	14.33000	301,669.43	12.50000	263,145.00	15.68000	330,089.09
	E107 2 1 G (LARGE MAC	CHINE)	13,079.200 AC	15.30000	200,111.76	26.00000	340,059.20	25.76000	336,920.19
	E107 2 2 G (SLOPE)		533.000 AC	75.05000	40,001.65	50.00000	26,650.00	112.00000	59,696.00
	E107 2 3 G (INTERMEDI	ATE MACHINE	450.000 ) AC	124.77000	56,146.50	150.00000	67,500.00	224.00000	100,800.00
		MACHINE Sec WING (AC)	ction Totals:		\$597,929.34		\$697,354.20		\$827,505.28

Contract Grand Totals:	\$597,929.34	\$697,354.20	827,505.28





**Tabulation of Bids** 

Page 2 of 3

Letting:	02251119 N	lovember 19, 2	2025 <b>Cal</b>	Order: 004		Contract:	E21Q5-R0	
Line No / Item		Quantity Units	(4) ALL TERRAIN ENTERPRISES OF BRAD					
() indicates item	is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001 (	LARGE MACH	INE MOWING (AC					
0005 E107 1 LITTER REMOVAL		21,051.600 AC	17.37000	365,666.29				
0010 E107 2 MOWING (LARGE		13,079.200 AC	35.00000	457,772.00				
0015 E107 2 MOWING (SLOPE		533.000 AC	175.00000	93,275.00				
0020 E107 2 MOWING (INTER!	3 MEDIATE MACHINE	450.000 ) AC	185.00000	83,250.00				
0001 LA	RGE MACHINE See MOWING (AC)	ction Totals:		\$999,963.29				

Contract Grand Totals: \$999,963.29



12/04/2025

#### **Tabulation of Bids**

Page 3 of 3

**Letting:** 02251119 November 19, 2025 **Call Order:** 004 **Contract:** E21Q5-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.